MONDAY TUESDAY

\
1.25% of €100=€ | 1.25% of €20=€ " E
2. Write the numeral one million, one hundred and 2.505,050 -7 = §
“ eleven thousand, one hundred and eleven. 3. How many 50c coins make up €10,007 z
| ' | 4.2%< 1% [ [True []False

2 Icfozc;;fee costs €2.00 per 100 g, how much will 1 kg 5.999,995 + 8 =

e 6. 25, 50, 75,

IR 710350 =

5,999,993 + 7 = 8. Draw a net of a triangular pyramid.
| 6. 1,000,000 + 1,175,000 = f
| 7.909,090 — 8 = Jf

8.+12, +6, B, ’

9 This is 1 9. What are the chances of picking an even number

between 1and 117

10. Sarah has 90 coins and Joshua has 45 coins.

out of
How many altogether?

10.2.022 + 4513 + 2.453 =

11. If cheese costs €1.50 per 100 g, 2 kg will cost
€
0, =
13. What is the radius of a circle if the diameter is 5 cm? 12:20% ot 4 00 =<
' 13.€100.00 —-€2750 = €
cm
14. Sum of 1,250 and 650 =

15.278 +22+38+32=

11.20% of €20 =€
12.€100.00-€17.50 =€

14. Draw a 270° turn clockwise.

"I

15. What is the radius of each circle?

16. 2+ +44 = =

17. This is an

am

€ o0

18. The hat was €30, now it costs €

16. Round 2.37 (nearest whole number).
” 17.(24+3)-2=

i’ 18.67206=_._
19. Halve 98 =
20. Round 157,034 to the nearest 1,000.

19. Circle the symmetrical letter shape.
b N Q r E F
20. Double 38.
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. This shape is a Z /

L km=_

WEDNESDAY

.2aoofeBl=§€ ...
.999,997 + 9=

_Write the numeral one million and ten thousand, nine

hundred and nine.

IR | True  [_|False

. 202,025 = 10'=

. 100,000 + 955,000 =

) [ — o -, —14,-21

u——]

S -

. Which temperature is the coldest?

[Jo°C [Jae°c [J-2°C [1-7°C [I8°C

SideA= . m

)
il

What is the square’s perimeter?

The value of the abacus is

17,000 - 8,500 =

Louise ran 200 m three times. How far did she run
altogether?

m = m
350 700 1,400 , -
3m
Area = m? 1 5
. [2a] 4m g
Perimeter = m E

7m
. What is the probability of picking an odd-numbered

house in a street with houses numbered from 1 to 377

out of

The book was €25, now it costs

€

3

m

New Wave Mental Maths

O 00 ~N O

10.

11.
12
13.

14. 5i

15

THURSDAY

.25%of€60=€

999,999 + 3 =

. Area = 32 cm? -
Sidea=______m z )

. Write the numeral one million, one hundred and one

thousand and five.

Z
5

AR~ = S

. How many 50c coins make up €8.007
bx0=____

.20%0f80=__

Which is the same weight as 2,000 g?
__10% of 2 kg

| 150% of 4 kg

| 110% of 200 g

The place value of the 3in 12.032 = . .
.+8,+6, ,+2, 0, , 4, , 8

S+<% [ ITue  []False

Simplify =

0=

The pie chart shows favourite sports of 5th Class pupils.

.

16.

17.

18.

19.

20.
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24 children were surveyed.
How many liked tennis?

The least popular sport was

How many children liked rugby?
How many more children liked rugby than football?

How many more children liked football than cricket?

978-1-92096-243-2 5th Class.



PROBLEM-SOLVING FRIDAY REVIEW

Monday 1. 25% of €40 15. Which is the same weight

| Complete the patterns. _e as 4,000 g7
| [ 110% of 4 kg

2.61,044—7 -
[ 150% of 6 kg
- ) " 1100% of 4 kg

3. 400 , 900 , 1,400 | 16.9x0=____

190, 47 2,375,000 + 1,000,000

BT .
12 ] 18.+>% [ |True| |False

5. If chocolate costs €1.50 L .
1 -
| per 100 g, how much will 237>+ | {True [ IFalse

H Tuesday 1 kg cost? 20.3.524 + 1.031 + 4.243
1. Draw a shape to show ¥ of this square’s - = e
PETITIEIER, i 6. Circle the symmetrical 21. The abacus
letter shape.
i . B G F e e =
— 7.5)100.5 = =i =
2. Liam removed 2 parts of the S 8.+49, 43,0,
square. What flrac_tjon of the p ) . —6,-9 22. Stacey ran 800 m four
| perimeter is missing? i it times. How far did she
O+ 2 (4 [ .. 9. Order the temperatures. run altogether?
=3°C 0°C +3°C .
Wednesday -5°C +2°C = m

1. A cube has a corner cut away. What 2-D shape D D | [__J l The pie chart shows favourite
. ‘ 1 | i

is shown? T e warmest  colours of 5th Class pupils.
1010850 = Vi
[ yel
2. What 3-D shape is the 11.(42 2 6)—3 ( y'°f’ blue \
offcut? e ' ' _red J 4
12. 20,000 - 8,500 S

23. 36 pupils were surveyed,
How many liked blue?

13. How many 50c coins

Thursda
. make up €10.00?

1. How many dried-out black markers did the 24. How many pupils liked
boys find? — '
yerin Sth Class - red and yellow?
Dried-out Markers Found in Pencil Cases 14. This is a
— 16 boy
14 girl

. Girls find? | ls i
irls find i 25. How many pupils liked

8
- 6 @ yellow?
4
2
0

Bh'Je Red Blalck Gre'en Yellow

Q78 | 9INQL . IAI I o =



